
Juno Bambino
Highchair Assembly Instructions

STEP 1

Place one of the sides vertically on the 
floor with the back panel slot facing 
away from you. 

STEP 4

Lay the highchair on its side and repeat 
step 3 to loosely attach other side to 
frame. Repeat step 2 to loosely attach 
the remaining 2 seat screws. 

STEP 2

Use two of the four supplied seat 
screws and place one washer and 
stacking bung on each of them. 
Proceed to loosely secure the seat 
board to the side using these screws. 

STEP 5

Place the back panel into the slot 
between the bars and attach with 
supplied back screws.

STEP 3

Loosely attach the three rails to 
the side using the supplied screws. 
The sticker on the rails should be 
positioned to the bottom of the 
Highchair. Note: top rail must slide 
through seat strap loop.  

STEP 6

Tighten all screws to secure the frame.
Note: Do not over tighten stacking 
bungs.

Helo Products Ltd

Fountain Way, Reydon Business Park, Reydon, 

Southwold, Suffolk, IP18 6SY.

Telephone: +44 (0) 1284 772400

e-mail: sales@hel-o.co.uk

www.hel-o.co.uk 

Registered in England No. 13058754

VAT No. GB375 3632 81

CONTENTS

QTY	 DESCRIPTION 		          COMPONENT REF: QTY	 DESCRIPTION 		           COMPONENT REF:

2 Welded Tube sides Side

1 Back Board Back

1 Seat Board Seat

1 Longest Length Rail R1

1 Medium Length Rail R2

1 Smallest Length Rail/Barrier R3

6 30mm M6 Screws for Frame Frame Screw

4 35mm M6 Screws for Seat Seat Screw

2 35mm M6 Screws for Back Back Screw

4 M6 Washers Washer

4 Stacking Bungs Stacking Bung

1 Seat Strap Seat Strap

1 Allen Key Allen Key

R3

R1

R2

Seat board

Seat 
Screws

Ensure washer and 
seat screw head sit in 

the counter

Back 
ScrewsBack Panel

Frame
Screws

Seat
Screws

Seat 
strap 
loop

Frame
Screws


